AR2NTEREFSREHFEHT - AOKEFR

FR2458A KRBT
TR24%F88 K H BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BARAERAR 26,217 34,455 36,885 71,340 EREAXTIRAD 26,192 34,426 36,842 71,268
SNEAERAO 175 230 238 468 SNEAZEHEAO 175 229 235 464
KENMAB 26,392 34,685 37,123 71,808 KENHAB 26,367 34,655 37,077 71,732
BARAGFE#HE - AOKFE (IBARZEHET) BXRAGRHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR ;2 T hisk AR EHET 1,031 1,407 1,382 2,789 B — Al =2 246 307 333 640 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 772 891 947 1,838 o . ¥ /N 122 168 178 346 HeE—TH 799 909 1,031 1,940 wu&aE—THB 0 0 0 0
2 T 75 Hh 35 RHETH 206 222 243 465 =H 107 147 155 302 WME-TH 561 704 773 1,477 WLE=-TH 0 0 0 0
LN b AHTER 843 971 1,049 2,020 A T S B 69 95 108 203 BE=TH 260 331 380 711 WILE=TH 0 0 0 0
TR s TR 999 1,232 1,373 2,605 i K 199 258 253 511 WEMTH 196 262 288 550 WILEMTHB 0 0 0 0
T/ E i H/E 465 565 597 1,162 EEFE 18 27 28 55 WEATH 760 1,040 1,152 2,192 BWILERTHB 0 0 0 0
K2 A EELW 191 238 274 512 FAFTET 165 177 211 388 FENARTH 89 121 124 245 WILEARTE 0 0 0 0
ma 102 161 156 317 HrET Hhig FR T 118 136 148 284 B&EtTH 183 251 265 516 BWUEtTHE 1 1 1 2
iR ithig iR 257 331 385 716 L FrHET 135 179 167 346 HES—TH 0 WILE/NTE 0 0 0 0
AR s ZAR 1L 98 106 143 249 Fa ET 171 223 266 489 HEEZTH 222 313 322 635 WILEATE 0 0 0 0
XE 796 936 956 1,892 FaET 17 23 30 53 HEBS=TH 10 10 12 22 WILE+TE 0 0 0 0
dt 2 [E iz ZzE 426 503 503 1,006 i = Hhig Fh T 36 34 50 84 HEEMTH 0 wua+—TH 0 0 0 0
ot B st i 158 199 186 385 BRHET 103 120 131 251 HESRTH 280 346 387 733 BWuE+=TH 0 0 0 0
75 1A 187 218 231 449 &% 80 77 101 178 HEABANTH 167 237 245 482 WILE+=TH 0 0 0 0
4 this He 2,848 3618 4,013 7,631 RifiFE 138 162 187 349 HEELTH 335 396 435 831 INEt 1 1 1 2
HZE A Hhis HES 1,650 2,088 2,280 4,368 AR o ERE—TH 52 59 69 128 HES/NTH 379 497 542 1,039 =1 10,911 15,174 16,047 31,221
ERAE S RiE)IS1~4TH 784 1,009 1,118 2,127 BRER_TH 285 336 374 710 HESNTHE 257 289 337 626
a2 & Ki2)I185~9T B 1,485 2,349 2,379 4,728 ERE=TH 43 64 66 130 AZN&—TH 339 424 473 897
W B & Hhis MWERE 2,074 3,062 3,169 6,231 il 63 62 74 136 KEZJNEZTH 102 126 140 266
¥ 35 A Hhig mES 2,069 3,047 3,087 6,134 izt 38 28 43 71 KENEZTH 343 459 505 964
LA Hh i wIlE 1 1 1 2 it 39 52 58 110 RENEMTHE 0
=11 17,442 23,154 24,472 47,626 hnyE R ER iz INGE 58 59 68 127 KENEBEETHE 239 407 397 804
INET 83 83 82 165 KZNEARTH 560 818 825 1,643 (FH)
AARAERHE- A O£ (IHILEE) §4 5 85 95 110 205 R2NEETH 325 513 528 1,041 X5 s 4 5 % i
(LI EH 29 38 43 81 KENEBE/NTBE 361 611 629 1,240 mmEae—TH 165 221 235 456
1T 4 B R X 3 L 5 g &t HFERE 104 115 133 248 KENEATE 0 EmE&=TH 138 152 185 337
5 F st tisE 175 252 306 558 fit] W} 119 164 170 334 MWREE—TH 464 711 686 1,397 EMEXE=TH 141 163 195 358
[Fap il 388 563 577 1,140 TR 99 118 148 266 MREEZTH 116 178 185 363 AmEemTH 117 132 155 287
A6 3 B #thig FEE 381 582 593 1,175 [i] 48 54 62 116 MEE=TH 235 345 373 718 EMXEETH 55 67 71 138
T E i MTE 639 885 921 1,806 HRIR Hhig H 31 35 41 76 MREMTH 259 362 386 748 mAMmXEaNTH 162 202 219 421
HEF 57 65 90 155 BRI 66 72 93 165 MWRERTH 256 403 413 816 mmEaetTH 150 200 215 415
=58 desal R 134 194 210 404 IhNEF 73 91 103 194 MWRENTH 287 410 428 838 EmE&/\TH 184 232 258 490
B 217 359 381 740 mp 37 51 56 107 MWREETH 247 370 383 753 mAMXaEATH 183 224 241 465
e 41 42 68 110 L3 G 4 44 52 96 MWRE/NTH 210 283 315 598 mmEae+THE 183 226 239 465
E¥a1 53 81 97 178 E=3i 37 44 49 93 wmEE—TH 260 306 321 627 mmEse+—TH 254 316 340 656
EI\2 132 174 220 394 B/ 13 17 16 33 BEE-TH 356 528 515 1,043 mEmnEe+=TH 215 304 303 607
IRt &R i £33 81 106 142 248 N 5 6 6 12 BEXE=TH 324 518 518 1,036 mmEae+=TH 153 193 208 401
tiRa 55 78 85 163 CiEgN 32 48 47 95 HwEEMTH 259 391 415 806 mmEs+mTH 120 165 185 350
a5 97 137 146 283 BTF 20 31 30 61 BEERTH 325 514 529 1,043 mAnEae+aETH 135 188 174 362
tine 148 177 197 374 L TFF 15 24 22 46 BESNATH 274 449 438 887 =1 2,355 2,985 3,223 6,208
37 70 90 90 180 3 12 13 15 28 mEELtTH 271 341 351 692
LRt ithig EIA8 94 129 129 258 =2E 9 8 11 19 wmEE/NTH 0 0 0 0
tIRo 114 148 161 309 it 3 8 7 6 13 INET 10,910 15,173 16,046 31,219
ti\E10 89 111 137 248 PNy i 14 11 17 28
WEXN 29 31 30 61 it 29 43 53 96
= REX S 5 6 6 12 %53 46 52 80 132
LR 64 49 61 110 FIN% & g Emxs 2,355 2,985 3,223 6,208
=11 3,063 4,259 4,647 8,906 =1l 5712 7,042 7,766 14,808




